o

=

=
—
=

E e

iy (‘
Ay

IlepeyeHb OCHOBHBIX JIeTaJieil M Y3J10B

IVIIKHU TEeIJI0OBOH DJIECKTPHYECKON

TI1-2-02 O

HaganpHEK TEXHHYECKOro OTaea

HmxeHep-KOHCTPYKTOp

ITerpos B.T.

Magpus N.10.

Ne HaumMenoBanue Kou.
1 | Pemerka 2
2 | Koxyx BHEMIHUH 1
3 | Bunt (camopes) 4x8 6
4 | Buar M4x16 2
5 | Illaiiba 4 2
6 | PykosTka 1
7 | HarpeBartenpHusnii anemert 1500 W 2
8 | Koprmryc HarpeBaTenpHOTO dIIeMEHTa 1
9 | laiika M4 4
10 | bonr M4x16 1
11 | [aii6a 4 npy>KuHHAS 1
12 | IIlaii0a (Gey—=4, 9=21, S=1,8) 1

Yr1Bepxaaro
TexHuueckui TUpeKTop

Amnncenkos O.A.

13 | Bentunstop ¢170 1
14 | Mydta 1
15 | DuextpoaBuraTens B coope 1
15.1 | Dnexrpogsurarens 220V 1
15.2 | BeIBO/1a DIIEKTPOABUTATENS 2
16 | lllait6a 4 npy>XuHHAas 4
17 | Buat M4x10 4
18 | Illaii6a 4 npy>xxuHHast 4
19 | Buar M4x8 4
20 | KpoHIITEHH JIEKTPOIBUraTels 1
21 | Brynka u3onsiuMoHHas 1
22 | lllaii6a 5 4

31
23 | Ilaii6a 5 mpyxuHHas 4
24 | Buat M5x12 4
25 | Tepmocrat 250V, 10A, 55°C 1
26 | Bunt (camopes) 4x13 2
27 | Brynka coenuHUTENbHAS 2
28 | IlpoBOJIHUK ¢ HAKOHEUHHUKAMHU 4
29 | TpeXKOHTAKTHBIA IPOBOJHHUK 1
30 Ilepexmtoyarens MOLUTHOCTH 1
250V, 15A
31 | Perynsrop temneparypsl 250V, 6A 1
32 | Tatixa M4 1
33 | IllaiiGa 4 3y6uaTas 1
34 | DOnexrpomHyp B cbope 1
34.1 | IIpoBOJIHUK JABYXKOHTAKTHBIH 1
34.2 | IIpoBOJHMK IBYXKOHTAKTHBII 1
34.3 | TIpoBOJIHUK C HAKOHEUHHUKOM 1
34.4 | Dnexrpommyp (3x1,5Mm%, L=1,5m) 1
35 | Bunar (camopes) 4x8 4
36 | Bunr (camopes) 4x15 4
37 | Pyuka 2
38 | Illaii6a 4 mpykuHHas 1
39 | Buat M4x8 1
40 | KoxyX HWKHHHA 1
41 | Pukcarop 2IEKTPOILIHYpa 1




